BRS-R2
78 FKMEBAOERE

N — B oKk o I %
(%) | 2= I ././-/'/./.
£ = 88.1 850
800 -

1 ® = 99.6
2 % B 984 | g | 750 -
2 & = 98.4
4 &= 97.6 700 | /
5 & g 96.6
6| I} R 96.5 g | 650 ‘
71K B 964 | 19 20 21 22 23 24 HE
8 = L 94.8
9 1t & & 94.2 Y N R N
10| & H 92.1 o
11| A& I 91.8 —
1208 I 91.0 [ #hetF—% | y

z T . 0
y I Q o il SR £l
15| 1% £ gg7 | * FRk19 69.6 83.7
16! L 2 88.6 20 71.2 84.8
17 = 17 885 315;21 73.1 85.7
18 B 40 86.9 F k22 86.9
19| = B 863 | # :FEJ?,23 87.6
200 F % 84.4 24 88.1
20 & 5 84.4 ) PRBEEUFTORIER, (M) BATKERE BARD FKEILY
22| #Hr ] 83.7 i,
23| 1L m| 82.9 I H Tl 2 F
24| H 82.7
25| HE Y 822 | g [FRERBAOZRE (%) 76.3
26| [ 1 81.7 CER 24 ER)
27 ¥n /N 81.6 [ (%) BATKERG S EER R
28/ i b 815 TAKENEBEAOZEE]]
29 ® I 80.3 | B [FABRUHAIILE (%)
30 = Y 79.5 (ER225EEXR) 88 78
31 & b7 79.3 ) ERRERGIREER—RDIE (23431)
32| 1 el 78.1 e [[(ath) BATKERLIBADTK
33| 1k =1 76.9 & 1]
4 E 5 75.9
% &E F 754 | & [KEERE 89.6 97.5
36| &% fif] 75.3 & (%) (4641)
37 Bt 5 74.9 (ER 225 ER)
38| & Vi 74.0 (B3 G EE )
39 F # 73.9
40 FE R B 73.3 CEREATEEREE TEAREAQERKRIZDONT]
41| = 1 730 RAEE A ERAEER
420 F ) 709 | ¥ | .mzms.as
43| 5 yall 70.5 B HEKREBAOSREG, TKE, BEEEHKERE. S6H0E
44| K n 70.0 BEHE, 031 =T (- TSV DB K LB BRI L L EBADDBRAD
45 0 #X W 552 | = <R BEETHS.
46| & 1= 52.6 ) FH2EELRE. BERICENT. REAAERICEYAETREEY

(LLF . #iE7zL) HETH A B H1=8 . ARARIELTIND,




